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G) @t yoT fAard & | 39 ¥97-97 § FT 27 ¥7 8 | Fo7-97 wia @usl 7
fayrfsra & 1

(i) @U8 I § Jo7 G&IT 1 -5 % J9% Y97 Uk 3b & & | A% J97 & I
20 52 @ 3718 787 §HT =IET |

(i) @UE & § Y97 G&IT 6 — 10 % 3% Y97 1 37l &1 & | b J97 HT IH
40 szl & 371er% 787 F97 T0ET |

(iv) @UE T H J97 G&I7 11 — 16 T% b 97 TR bl H7 & | Ie9F 97 HT I
100 viscT @ 371 781 &1 T30 |

(v) @S 7 H Y97 G&IT 17 - 21 % Yo 97 Giel 37H] &7 & | I9F 97 HT ITH
150 55t @ 37feres 757 &1 FIfT |

(i) @Y T § Y97 §&I 21 HHGT W SYIRTG I3 & | 59 I 39T
FT-GiEdT 4 1e7iEe |

(vii) @UE T § Y97 G&IT 22 - 27 TF 9% Yo7 B: 3H] H1 & | Yedb J97 HT I

150 155 @ 3718 757 &7 T3T |

General Instructions :

(i) All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

(it)  Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

(iti) Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

(iv)  Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

(v)  Section D contains Questions number 17 — 21 of five marks each. The
answers to these questions should not exceed 150 words each.

(vi) In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

(vii) Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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@UE A

SECTION A
3 g o TorE o1 § W AT S I 3W W HeUd @l ¥ SH-0" 99
form 2 1

In what sense did the Cold War manage to ensure human survival ?

“Sfe et 1 e AN foug & T8 o1fug e 1ot 9l o iR & et 17
Teh IWYRH deb g 39 A i gfse hifvw | 1
“The real challenge to Indira Gandhi came not from the opposition but

from within her own party.” Support the statement by giving one
appropriate argument.

1970 % & ¥ Uy oMeieH et ffafad weqi § 9 SH-81 ®eF
3qeh! fommeamn 9 v 787 @ran ? 1
(%) Ig TS AT HeTd & foeg o |

(@) I8 B < < ATk Tadsrar o folu SR o |
(1) 3 STCWTE Td deEyd shi Hifd ol sgran feam |
(F) 35 U o fopell ot afves meewm o Wit =& U |
T
fid g "adt fF=faRaa seri § & ®H-91 HeA F@=T 2 2 1
(%) 384 Th 3N fove Ig ot St feam |
(@) Ig < Ukl o s [IaRYRIcHs Jg o |
() I8 AL qAT Hifadd TewHAl & s= iaeagr off |
(T) 3ok HRu faueht T3EYHT o <RI o 9 ITEH-IET 94 i B T TS |

Which of the following statements about Non-Aligned Movement during
1970s does not match with its ideology ?

(a)  The organisation was against racial discrimination.
(b) It worked for economic independence of small countries.
(c) It promoted the policy of isolation and neutrality.

(d)  Its member countries did not join any military alliance.
OR

3 P.T.O.



Which among the following statements about Cold War is false ?
(a) It led to the outbreak of another world war.

(b) It was an ideological war between the two super powers.

(c) It was a competition between the US and the Soviet alliances.

(d) It triggered an arms race among countries of rival alliances.

4. T € A W gU HYE U 99 % WEr SR faehe gadl qeied i geel
e (1 9fare) s gl AT ? 2 1
Why was the United Nations Conference on Environment and
Development, held in Rio de Janeiro, called the Earth Summit ?

5. 9 TIH T AT o U shadl ‘MRl Weg ol YA feham SraT =,
d

ST T HEd 8 ? 1
HAAAT
‘TRIA S T | 1 AT R 2 1
What does the word ‘America’ signify when it solely refers to the USA ?
OR

What is meant by the phrase ‘Operation Desert Storm’ ?

Qs d
SECTION B

6.  ThIEAETIRAT T IHTSH, FEaATioR & faureH & ford TR fora o 2 1+1=2
How did the split in Czechoslovakia differ from breaking apart of

Yugoslavia ?
7. 1950 % <3 § WRA TSI & 99 hidl bl il YUl &1 hal T 3§ ?
I3 a HRU fafau | 1x2=2

ST
foramam o SRiHET % SMYN W WA SHEY 3 cdl § fird o | %8 @
SWIRH e ¢t 39 YA hI gfse i | I1x2=2

Why has the period of Indian politics in the 1950s been described as the
‘Congress system’ ? Give any two reasons.

OR

Bharatiya Jana Sangh was different from other parties in terms of
ideology and programmes. Validate the statement by giving two relevant
arguments.
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» B
=100

ISET o UTHION | ST hl TATIT b forier = fomam 2 2
HAAAT
A <l i3 srefeaean yomeht i foheel &1 foRivaTal &l AR hINT | 1x2=2
Why did the villagers of Orissa protest against setting up of industries ?
OR

Highlight any two features of the system of mixed economy in India.

9. U8 =R g Rl < ugeE hINT S I GH 1 U TgUsT B &Y &

. 1

%| §><4:2
ateran

1962 H 9RA 3R 9 & sftw @i oy &1 g9 SR 94 < & hl ggaH

I | 1x2=2

Identify four common symbols that make the European Union look like a
nation state.

OR
Identify the two regions which were the actual basis of the border conflict
between India and China in 1962.

10. 1970 © 1972 & o= g UH Tl @ geaisti o1 favawur hifu fSes s
3feq Tt T Hele@ UsgaTg! Har o TR | Ix2=2

Analyse any two events from 1970 to 1972 that made Indira Gandhi a
strong nationalist leader.

Qs v
SECTION C
11. IRYN e ifd o fohegl =) il hl =& i | Ixd=4
HAYAT
T fova Ig & uvarq wfimn Qe STt % 9 Toad S Wk THT 3T Tt
&1 <1 Tohegl = AT <l Samen i | Ixd=4

Elaborate upon any four components of traditional notion of security.
OR

Explain any four security challenges facing the newly independent
countries of Asia and Africa after the end of the Second World War.
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12. T=g T QTR0 1 TR § U HIEBAeh Wfh o &9 H A d<Ed

Fuiq HIfT | 4
Describe the US hegemony as a ‘soft power’ with the help of any two
examples.

13. FUTA § TSIad ¥ Alehas hl TATIAT qeh o TS a0 hl ST il | 4
Explain the various phases of Nepal’s transition from monarchy to
democracy.

14. YA ¥ 99 1975 W I 7T T ATITARIA o foheal IR GOl Sl 3TTehets

I | Ix4=4
A

1977 % TGl H, HiUG A & TH fqheq & ®4 §, THa1 4 & ITEH B

TR ST | 4

Assess any four consequences of the national emergency imposed in the
year 1975 in India.
OR

Evaluate the emergence of Janata Party as people’s alternative to the
Congress Party in the elections of 1977.

15. “G9 I $® WA-HA-Ug1d & 31a1 Hed § — T6 T Aveihor 1 I9TE uSd
7 1”7 3CTE <ol 38 e hi gfee HIfT | 4

“Globalisation affects us in what we eat, drink, wear and indeed in what
we think.” Justify the statement by giving examples.

16. TEioE gRI GHEAS! o T8l FEE 3R gami &l A i & JAE & 969,

HifoRrd €9 1 forered a1 3T 2 i3 IR HR0T T HI9T | Ix4=4
T

1970 % ¥ T Tiferd I shi ATRIST TSl hl GURA i JATTTIhdT I

ISl ? I3 AN HRU T HINT | Inded

Why did the Soviet Union collapse in spite of Gorbachev’s accurate
diagnosis of the problem and his attempt to implement reforms ? Explain
any four reasons.

OR

Why did most of the institutions of the Soviet system need reforms
during late 1970s ? Explain any four reasons.

59/5/2, 6



W@ us §
SECTION D

17. = fou mu fam @ ermyEs srerem fifde qen fefefea get 6 3w fafe

() T gan o form w1 @ waifya 2 2 98 o fopdt waTga o fera 2 2
(i) 39 fo= § fou T S99 fug, Fafa go S 7g9H & | 9896 & ?
(iii) 3§ g T o gl & 2 1+42+2=5

Study the picture given below carefully and answer the following questions :

;?& -,'7 f,,p;}_}:** =

7 P.T.O.



1) The given picture refers to which country ? Name the continent
where it is located.

(ii)) Identify the two symbols in this picture which help in the
identification of the country ?

(iii) What do these two symbols depict ?

Fig:  [Arfkifad o7 Feac gieartaa qaamndar & [/, 397 G4 17 & € W8
Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 17 :

(17.1) 99 Tt 97 TIATS QAT qeshlaiiA a1 o7 YT fope oo & waferd
¥ 239 Q¥ 1 QU AW R 7 ?
(17.2) 3199 o % 3T forehrd H, 37 Q1 A3 1 G ANTGH 1 A1 ?

(17.3) T3 o fe@ren mn S |Afe g R Uk BT TE & R G

2 1+42+42=5

(17.1) Premier Zhou Enlai and the then leader Deng Xiaoping
belonged to which country ? What is the complete name of this
country ?

(17.2) What was the main contribution of these two leaders in their
country’s economic development ?

(17.3) Why is the little man shown in the picture trying to stop the

dragon ?
18. 9 fou MU sraqr w1 eamyEs stewd fifve it fefafed e % 3@
fefiau -

33 T o IR H WA o A& 9T H feud e ardt o
fohTe GRS & d8d Wed e, o 3R HERISg € oA arel]
THer 3 3IThH! TR A W 30 9%, 135 T a1 3,000 DI
Y S T T W@ =T | ORI o TER TUat 3 7T Y™ 6
THE WR §1Y % &9 H q qeH 991 3R og-3eRy TRASIS 6l
TFgtror fopan man | 9der 461 % S=g ° qHer S=eT AT 9T | 39
eI 3 Sie o i w1 oy fman | 9Her S=eh e =
Siet o o & Tmy-E o § 9 @ e aiEsEnet & sitae
W off HaTed 33T @ R |

()  THer =rdt § YRy bl 73 gewarehielt giEsn 1 AW fafge |
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(i1)

(iii)

THeT 1SN 3Teidd o Gishd HRGAIST g’ 39 JRESHT & fog #

33T T Tehedl g1 el ol TISe HIfT |
& Y T SAIST AT ?

T SIS ST & IRY ¥ & 30 UREeE] o folig i 3 §g TEl

1+2+2=5

Read the passage given below carefully and answer the following
questions :

i)
(ii)

(iii)

An ambitious developmental project was launched in the
Narmada valley of central India in early eighties. The project
consisted of 30 big dams, 135 medium sized and around 3,000
small dams to be constructed on the Narmada and its
tributaries that flow across three states of Madhya Pradesh,
Gujarat and Maharashtra. Sardar Sarovar Project in Gujarat
and the Narmada Sagar Project in Madhya Pradesh were two of
the most important and biggest, multi-purpose dams planned
under the project. Narmada Bachao Anadolan, a movement to
save Narmada, opposed the construction of these dams and
questioned the nature of ongoing developmental projects in the
country.

Name the ambitious project launched in the Narmada valley.

Explain any two concerns raised by the activists of Narmada

Bachao Andolan against this project.

oppositions to this project with other larger issues ?

Since its inception, why did the Narmada Bachao Andolan link its

19. = fGu MU @ w1 eyEs s1emE hHie R fEfafEd T 6 I
et .
TEE & ISR T T a1 A T g L foram mam s

AE=® S-H T M | 486 hH Gog 6 a6 HUE Ul ATH

. HATS 4 379 UTE ok Iq1eTi R THel 4 GAR-HC R | 38

arn foh |t STt sETqr I b ue W B | WS, SiUW §Hdd g

ffatg a1 g4 U 3R 39 & 9 < % U9 WAl o4 | I, ST uew

& I 3 A8E & HHHSA H s ATl dob Wl @ I | Ikl Aot el

foreft forem op1 foame 9 3a1 o1 | 3 STflEd gl d Ag® H W

SE-8-5arer it Ba e o | et st werft ek fargia fser % ferw

gferg o |

P.T.O.



(i) 98& <l g % YT SAUMTHR T Yo WA § A 8 o R,

AT o HH-H 3l Heg Terd 1Hg gY ?
(i)  Terdl U g1 gRI I8 YA ShITT foh et SIgTgL el 19T figia
fasar & forw ufdrg o |
(iii) TS % JUERCE el § WRd % GHel T arell fehedl & ged A
1 IR HIT | 2+1+2=5
rerat

2 feu U s w1 erHgds e dife o frfafed g % 3w
o -
gfen el A 91 9T o g @ ToHid | ik off, AfhT @
FRIgL WA < Abmed H o9 FA {8 W ug W off | HE % afts
JqTAT F GHIGAT Tg Greehl 3Rl qEeT TR B T w3
Torifas A § @8 3Yd 9 g o HRur TmeH AR feen-fdem %
foru sfen wieht 39 W Ak @l | wum W= 99 % T "9 % 37 3fen
et S Ak THT & FATGT § U hl IATE AT TS | 39 I doh o
&1 anfdfer fedfa ot off wow & 8 off | 3@ sfen < wicasat s
TG TS | I HieASl & HeAol Iraid Urel T 9T e sg@ 37K 39q
Aqcd iR Hi fo@™ 6 Hifvme H |
(i) 1966 § W I I & UvEI, 30 T Wk |1, HE qd - TR
I Afss A1 3 g Tft & ug % fofw g1a @ie ?
(i) 3T 99¥ <9 < e feufa =t et =@ & fou, sfew oieh gro 6
TE fopdl g fiferma Tgett o1 Tase il |
(iii) 1967  FAEI o UTAT, SeU el 4 T Aqcd v Hy fe@mn qen
9T o TG AT e ol oh¥l Heled AT ? IE Gl IGTEW GNT | 1+2+2=5

Read the passage given below carefully and answer the following

questions :
The ease with which the succession after Nehru took
place proved all the critics wrong. When Nehru passed away,
K. Kamraj, the President of the Congress Party consulted party
leaders and Congress Members of Parliament and found that
there was a consensus in favour of Lal Bahadur Shastri. He

59/5/2, 10



(1)

(ii)

(iii)

was unanimously chosen as the leader of the Congress
parliamentary party and thus became the country’s next Prime
Minister. Shastri was a non-controversial leader from Uttar
Pradesh who had been a Minister in Nehru’s cabinet for many
years. Nehru had come to depend a lot on him in his last years.
He was known for his simplicity and his commitment to

principles.

Which two fears of the critics were proved wrong by the easy

succession after Nehru’s demise ?

Give any one example to prove that Lal Bahadur Shastri was

known for his commitment to principles.

Highlight any two major challenges which India faced during

Shastri’s Prime Ministership.

OR

Read the passage given below carefully and answer the following

questions :

While Indira Gandhi had been politically active for
very long, she had served as a minister under Lal Bahadur
Shastri only for a short period. The senior Congress leaders
may have supported Indira Gandhi in the belief that her
administrative and political inexperience would compel her to
be dependent on them for support and guidance. Within a year
of becoming Prime Minister, Indira Gandhi had to lead the
party in the Lok Sabha election. Around this time, the economic
situation in the country had further deteriorated, adding to her
problems. Faced with these difficulties, she set out to gain

control over the party and to demonstrate her leadership skills.

11
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1) Which senior leader of the Congress Party contested for the post of
Prime Ministerial candidate along with Indira Gandhi after
Shastri’s death in 1966 ?

(ii) Explain any two policy initiatives taken by Indira Gandhi to

control the economic condition of the country at this time.

(iii)) How did Indira Gandhi assert her leadership skills and consolidate
her position within the party after 1967 elections ? Give any two

examples.

20. = U MU R F AHYES FeEH Hif IR FEfaiad T % IW
fafew
R fafie S 1 TR HeH 3B & Al 3 HEAl
gfturfa 59 o7ef ® TS Bf | 9 wEel ° STfuehi U @ o foRet
T ¥ S FEHR 361 T TG 3Thcl GH W T8 H bl | 38
I9E ¥ A wod fova-ueHifa o1 feem s9 S g | wieRr qen
TTehfeh THIGAT § HEaf-ad T9d T 3R Tal 1 | TSI 3 |

(i) I % Theal Q1 TEXoT Hee FURRT i 9E=H HINT |

(i) 3T9eh fomm ®, gafawer o fA=fier 1 U & fou s9a @ fagd
S{YATE ST Fehd 8 ?

(Gii) vaTeoi 7ol & foregl @ Torifaes afondt st favewn Fifse | 142+42=5

HAAT

= ST T I I SAHYEH AR hHiT AR Ffafgd Tei 6 IW
fofau -
IRd 4 gefi-ame (fet) & @wsidl o fhameee &1 T
TRIFArh 1997 § foham | 55t g fisend I8 o o fospresfier <uni
! Temrdt st W T o Afafee T Famga qen gt & g
o Sga |ifed 8 ATell STENfiehl GaAm - hi foem o wig |nelsw

12



WG T8 88 8 | 9NG 39 1 hl T Al @ o o oW
forresiia guni i fociia GEmeq qon @@= WiRNRehl Jaa1 - %
T qea U Rt arfer fospmefia 91 3, . wh. . d. 8. (UNFCCC)
&1 Hiser wfaergarstt Sl 9U & T |
(i) I UA.TEE.HH. (UNFCCC) o faega &9 fafay |
(i) I UA.TERH.H A, & Iaiq fahesia <o 6 HisE Siaegarsti
ISR I |
(i) fopmsfiar <o foxfir damedi don w=s (vafewur-ergga) denfieht i
Tt sral W I oo ST FEd | ? 1+2+2=5

Read the passage given below carefully and answer the following

questions :

If the various governments take steps to check
environmental degradation ...., these issues will have political
consequences in that sense. Most of them are such that no
single government can address them fully, hence they have
become a part of ‘world politics’. Issues of environment and
natural resources are political in another deeper sense.

(1) Identify any two of the present day environmental concerns.

(ii) In your opinion, which two principles can be adopted to check
environmental degradation ?

(iii) Analyse any two ‘political’ consequences of environmental issues.

OR

Read the passage given below carefully and answer the following
questions :

A review of the implementation of the agreements at the
Earth Summit in Rio was undertaken by India in 1997. One of
the key conclusions was that there had been no meaningful
progress with respect to transfer of new and additional

59/5/2 13 P.T.0.



financial resources and environmentally-sound technology on
concessional terms to developing nations. India finds it
necessary that developed countries take immediate measures to
provide developing countries with financial resources and clean
technologies to enable them to meet their existing commitments
under UNFCCC.

1) What is the full form of UNFCCC ?

(i1))  Highlight the existing commitments of the developing countries
under UNFCCC.

(iii) Why do the developing countries want transfer of financial
resources and eco-friendly technology on concessional terms ?

21. WRa % fgu T ToHifos W@AWRE (798 16 W), § 9 TSI
@, ®, ©, © qn ® g ot T | R @ T TR F SR W
Tl Sl ugeH T R ot Sgfeae § s wEl A, S Rl T8
SR hl hH GEAT qAT Gefed AR, i &) T8 difeteht & &9 4 fafgu

T <hl T8 AR
&1 HHE-TE

(i)
(ii)
(iii)
(iv)
)

(i)  arSl foriet TgeH | Tafd T |
(i) 98 Tsg e 31 Ui stfeaea o fow ergie fokam |
(i) o8 TS &l SISl q°1 HE TG B @ |

Gra(-ed AT | TSI 1 911

(iv) 98 Td &l drmard awsiidn g |
(v) 98 Usa S Ardty dioam gro foy st o e g | Ix5=5
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In the given political outline map of India (on page 16), five States have
been marked as @), @), ©, @ and (E)- Identify them on the basis of

the information given below and write their correct names in your

answer-book with the respective serial number of the information used

and the concerned alphabet as per the following format :

Sr. no.

of the

information used

Concerned
Alphabet

Name of the
State

1)

(i1)

(iii)

(iv)

v)

(1) The State associated with Anti-Arrack Movement.

(ii))  The State which saw movement for separate national existence.

(111) The State where the Bodo and Karbi communities live.

(iv) The State where Longowal Accord was signed.

(v)  The State which has a special status given by the Constitution of

India.

15
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IEIF - * .
Fig : [Arliiad 397 #ac giearaa qhemfdal & g, 397 891 21 % T W

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) TSl s st & gefyd Ty 1 9w fafey |

(21.2) YARR | Tohd TS A T TS 3ifeded o fofw smgied foham 2
(21.3)  ARR I HE-AT T5F FI] TAT s TSR & HEd g ?

(21.4) 39 ST 1 AW TGy F&1 AT FHear ga |

(21.5) I YRA % 39 TsF hl IgaH Hifoe & =8¢ 370 & A

oy et fem mn B ) Ix5=5
(21.1) Name the State which is associated with Anti-Arrack
Movement.

(21.2) Which State saw movement for separate national existence in
the North-east ?

(21.3) Which North-eastern State is associated with Bodo and Karbi
communities ?

(21.4) Name the State where Longowal Accord was signed.

(21.5) Identify a northern State which has special status under
Article 370.

Qs g

SECTION E
22, Ty e (W) @ F AU R 2 gHA T foEa qen e Y 2
mEEfel % " gg B U § e ondiem Y qfiekr w1 9ol
HIT | 142+3=6

HAAAT

Ta IS 3N sraeen i wemu w4 h g off 2 fove SR yoedt #
FIR AH 3] 3hels (UNCTAD) gHI FEaTiad fohU T IR gUR -8 4 2 2+44=6
What is Non-Aligned Movement (NAM) ? Who founded this movement

and when ? Describe the role played by NAM in preventing war between
the super powers.

OR

Why was the New International Economic Order established ? Which
four reforms were proposed by UNCTAD to reform the global trading
system ?

59/5/2 17 P.T.0.



23. Sgod gU URER H HYh TS ol 3Tfereh TTEMTeh S % fog I3TT S ot fehegil

B: HeHl hT Iedd hITIT | I1x6=6
raT

A o Toh IR MG T FIYH TSE o @ o TS o 0T 3101 FHH TgH
foram 2 2 9via KT | léX4:6

Mention any six steps which should be taken to make the UN more

relevant in the changing context.

OR

Describe any four grounds on which India has supported the
restructuring of the UN.

24, USE H WA sh! TATT R HET ST a1 o7 | 39 fesm § 1984 © 1997 9
[EagispiciicoRs e icaisil 6
YT

“2004 % ST FAT AT o YTA UG H Hs HHEo X Fgd-H FEW
Jre(e, Afehal ToHifash gell o Teh dgafd-dt 3w Tor g |7 fohedl dF
U R G §H YA T FHH HINT | 2x3=6

The road to peace in Punjab was not an easy one. Evaluate the efforts
made in this direction from 1984 to 1997.

OR

“In the midst of competition and conflicts, a consensus appeared to have
emerged among most political parties in India after the Lok Sabha
elections in 2004.” Validate the statement with any three suitable
arguments.

25. 1947 § TaAdl % G UNANd, WA i DE-BIE ¥ H ¢ T hl AHET 4,

AT TTHR F HY Ul ? 6
Jrqa

AT AR T AT TSAT o HI07T ht [T i, TR ThR 4 IR H =

iR &1 Tt 2 33 Fvia & ufom feee 2 3+3=6

59/5/2, 18



How did the interim government prevent possible division of India into
small principalities immediately after independence in 1947 ?

OR
Why were the demands for creation of separate states on linguistic lines
initially not accepted by the Indian Government ? What were the effects
of this decision ?

26. BNd hifd o i ThNIcAs 3T d19 FehrIcHesh IRl &1 favewo hifse | 3+3=6
STt
“fecfia gaedffa aoT % 3Tatid dig STEfieRor W oA feam T 991 e
GLETCHS G H a9l & YRea 1 d&d T T |7 IS8 shl FEdl ¥ ed
i gfsd ST | 6

Analyse three positive and three negative consequences of the Green
Revolution.

OR
“The Second Five Year Plan stressed upon rapid industrialization and
aimed for quick structural transformation of the nation.” Justify the
statement with the help of illustrations.

27.  “1962 % WNG-HH Ig 7 WA I BfT 1 w0 a fogw g A gt fmam 17
T AT 3H hA9 U HgAd & ? Tehegl dI9 dehl @RI 394 IR bl =IIf=d

3R | 2x3=6
arera

Ife et Teg fgd ® wRa i fagw Aifd & $8 9iEds 0 &1 e fiw, @

39 -8 fi7 giard= ggmdn 2 2x3=6

“The Indo-China war of 1962 dented India’s image at home and abroad.”
Do you agree with the statement ? Justify your answer with any three
arguments.

OR

If you are given a chance to make some changes in India’s foreign policy
keeping into mind our national interests, suggest any three such changes.
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